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M =24
=l XE3 A2l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
AL 5,675,538 5,389,236 286,302
= 850,000
= 4,525,538
= 300,000
A2 739,172 1,108,074 368,902
KE2 A2l 93,300 66,300 27,000
22 37,300 28,300 9,000
201 et23| 30,800 21,800 9,000
01 AtR2t2|HI 24,800 15,800 9,000
OHMZHMEZ4LM = 10,200
—SYZ LA 90,0003 »50 4,500
-H3RANF 90,0003 *50 4,500
“BAZA AN 20,0002 *60= 1,200
O3lAH2d W= 2,600
TN, 20,0002 +602+23] 2,400
=t 50,0002 x20H =23 200
O=F2l0l I A2 244 WA
60,0003 x50 3,000
ORIDIKIA &tg =& 89
9,000,000 9,000
02 s3=gHl 6,000 6,000 0
OAH SR8 WEES 2=
6,000,000 6,000
202 04l 5,000 5,000
01 SLHoIH 5,000 5,000
O&cl g4 ol 5,000,000& 5,000
203 gR=| 1,500 1,500
03 A= PR F&IH| 1,500 1,500
OH gF=N 23h] 1,500,000& 1,500
S420| 20,000 20,000 0
207 ARl 20,000 20,000
01 A S| 20,000 20,000
OMRNE 23& 849 20,000,000& 20,000
ZAHAL 36,000 18,000 18,000
201 er2 3| 31,000 15,500 15,500
01 At2teltl 31,000 16,500 16,500
ONANIE ZAZA A-=E
150,0002 * 10 *20 30,000
OZuEANY 29 1,000,000& 1,000
301 Eet2 NS 3,000 1,500 1,500
14 0Bt 2as 3,000 1,500 1,500
OZUHARE 2a= 300,0008 %10 3,000
307 lztol & 2,000 1,000 1,000
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12 22 E W =S| 2,000 1,000 1,000
OZ ¢ ZARIE w=H| 200,000& 10 2,000
SAHAS & =52l 645,872 1,041,774 A\395,902
SSAEY 28 587,662 991,180 A403,518
201 er2 3| 317,142 300,660 16,482
01 AtR2te|HI 11,751 13,200 1,449
O SHEZ(IE)
600,000& * 122 7,200
OZExE =x2 1,000,000 1,000
OSEXE M & & 7Y
3,000,000& 3,000
O=EXHE I gX=
45,9002 x1CH* 122 551
02 s3=gHl 305,391 287,460 17,931
OXS A 16,590
-SEXtE 300, 000& =40CH 12,000
-Seite 80,0002 = 18CH 1,440
-St=, 2E0H,S=X S
45,0003 »70CH 3,180
OXtegr S AI 85,0003 »73CH 6.205
Oxteg 282 79,800
-SEitE 500,000 *40CH 20,000
-Seite 600,0002*18CH 10,800
—St=, 2E0H,S=X S
700,000 »70CH 49,000
OXteHt| 199,200
-SEitE 3,200,000 = 18CH 57,600
-Seite 3,200,000 = 12CH 38,400
-st=, HE0H,S=Xt S
2,400,000 43CH 103,200
Oxtg st FEa
40,0003 *40CH 23] 3,200
O3t TV(AIL0I2H0IZ) =4l=
33,0002 x 122 3%
202 04| 20,520 20,520
01 =LHOHI 20,520 20,520
OXE2HE bl 20,520,000 20,520
405 AHAHE S 250,000 670,000 420,000
01 AL =S F=H 250,000 670,000 420,000
O=EXg HWEsER UM 7L
250,000,000 = 1CH 250,000
Hief2tel 36,594 28,980 7,614
201 er2 3| 24,484 23,980 504
01 AtR2t2|HI 11,500 11,500 0
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OFNLE 018442 20,00021#45021 9,000
Oz Jotas By £ TH 2
200,000 +55 1,000
OHAUNZ B2 500,00024+321 1,500
° ZZ2H| 12,984 12,480 504
OHIBRINAE SX24
624,000 122 7,488
OASEE SHAIAE RA2e
458,0002 x 12& 5,4%
202 04| 5,000 5,000
01 2K 5,000 5,000
OAS ==& ol 5,000,000 5,000
207 ARl 7,110 7,110
02 MAHHZHI 7,110 7,110
OHAEESMAIAY HAHY HA=H
7,110,002 7,110
RFID EXIEH] SE222IAAY 29 21,616 21,614 2
201 Ler2t] 21,616 21,614
01 AR 22l 7,000 7.000
OE82E YWt 442
350,000 62 2,100
O=E22 U= ML E =8
150,000 *62] 900
ORFID =322l col= B § 423 7
1,000,000 43 4,000
02 S3=gl 14,616 14,614 2
O=s2eal el SW RXZ+
4,066,000 4,066
Os3aal eltdl & &I HW RXI2+ 9,830
-fFID JFUE 2IH| 5,112,000& 5,112
-RFID EHD 2D 4,718,000& 4,718
O=8=8 Wl===& 720,000 720
Matzte] 4,887,603 4,232,492 655,111
= 850,000
= 3,737,603
= 300,000
SRME 22 22 612,200 611,700 500
S L2 612,200 611,700 500
201 Ler23 | 589,200 588,700 500
01 At2t2ltl 29,200 21,500 7,700
O3F MLt 2l =E4| 1,500,000 1,500
OS=Ma NEEY =8
10,000,000 10,000
Os=M& ZHEI =5
10,000,000& 10,000
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O3 DOAS(ZR AL 12+ 20l A 0
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Od= AME= Molls+ & Sx= L&
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202 04| 8,000 8,000
01 =LHOLI 8,000 8,000
ONjat2te] =8 ol 8,000,000& 8,000
301 EtE NS 5,000 5,000
14 IIEt2 83 5,000 5,000
OS=Ma SHEE IR
5,000,000& 5,000
401 Al HIZ S OHbI 10,000 10,000
01 A28l 10,000 10,000
OS= ML 10,000,000& 10,000
A2 4,275,403 3,620,792 654,611
< 850,000
= 3,125,403
= 300,000
A= X2t 1,043,203 805,562 237,641
101 21AH| 69,262 88,257 18,99
04 JIZtN2Z2 XS 2 69,262 88,257 A18,99%
O&FAr2e| 12 69,262
=0 2,010,580 x5H ~6& 60,318
-AXt=E 76,9602 x5 H 6 2,309
-AEIEE JI2HRYS
60,317,400& *11% 6,635
201 et 3| 660,251 602,305 57,946
01 At2t2l] 146,140 152,194 26,054
OFA 22|23 (LN b+, 2t EXl, HHH
g 8) 45,000,000 45,000
OFA &Y === 500,000& x523= 26,000
OFAL 2843 4 =8
1,100, 0002 x20 2-+23] 4,400
OFAI #IIEH| HEEY 442
1,310,000& «12& 16,720
OFAL 8201 &IIBA =258
300,000 %13 300
OB s8] 22ES
200,000 «2CH* 12& 4,800
OBA AEAIE 22|89
600,000& * 122 7,200
OFA e & d+8 Ho 89
500,000& 22 1,000
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O=ZAgA 22X SX2(SH SU 85-47,70
m) 1,100,000& 1,100
OZHAL, a2, 244 F=)| € It SXz
250,000 * 128 3,000
OFAL AIRA SX2 3,135,000~ 128 37,620
2 S5=24g4l 514,111 450,111 64,000
OFEAL 88R= 388,800
-8 24,000,000& 123 288,000
“EAIJEA 7,500,000 122 90,000
-aote 900,000& * 122 10,800
Ogaldl 2 105
A &2 At 55,0003 * 1744 55
-Fg= ord 2t 50,0002 104 2 50
OBAF TAIJIAAIE SAL & 2R
300,000& %12 300
OJIEE v SR 3,126
-H=| 6,200 *3CH*BA| 2H+602 *33.33% 2,976
-2 X 150,000 *3CH*33.33% 150
OFAL E4a E9H| 10,000,000& 10,000
OS3AIE & 2AH2E )23
400,000 123 4,800
OB 8= =2 25,000,000 25,000
OFAL & 2&24= RA2ci]
25,000,000 25,000
OFAF JIHEH |XI2el(d, HeD])
25,000,000 25,000
OFAF &I & AEH S22
25,000,000& 25,000
OB s8I =Xl 5,000,000& 5,000
O HIJEAILE 0188
55,0003 *31x 122 1,980
401 Al HIZL S 0HYI 308,690 110,000 198,690
01 Al&HI 308,690 110,000 198,690
OFAL A2 2= 30,000,000& 30,000
OZd AL ZJtdE8d 89
8,690,000& 8,690
OZd AL 35 2SA
270,000,000 270,000
405 AHAHE S 5,000 5,000
01 It =S F = 5,000 5,000
OF A2l 238 7Y 5,000,000& 5,000
BHE =NHX=XE M (HEAIY) 3,200,000 2,000,000 1,200,000
= 850,000
Ea 2,050,000
= 300,000

o
|




SA: 3D
M THak2te
el ARz EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
401 Al HIZL 2018 3,200,000 2,000,000 1,200,000
= 850,000
= 2,050,000
= 300,000
01 Al&HI 3,200,000 1,944,330 1,255,670
Os48 FHNFIE ZdA
3,200,000,000& 3,200,000
= 850,000
= 2,050,000
= 300,000
SAIFRE =A2e 32,200 0 32,200
201 er23| 2,200 2,200
01 At2t2ltl 1,000 1,000
OFIHz 2ALBB(AZE, AUEXE S)
1,000,000 1,000
02 S3=gHl 1,200 0 1,200
OgAIFAE &= 100,000 * 12 1,200
401 AIEHIZ SR OHYI 30,000 30,000
01 Al&HI 30,000 30,000
OYAIFIE 2SS EXISA
30,000,000 30,000
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=213 HD) 48,763 48,670 93
JI=23Hl 48,763 48,670 93
201 et 3| 42,163 42,070 93
01 AtR2t2|H] 36,416 36,323 3
Oget=EH| 7,625,000 7,625
Or=1=i:] 9,720,000& 9.720
OSAPI Xtz 380,000 *1CH* 122 4,560
Ol gits 45,9002 x1CH* 122 551
OddgdH 42F F#4| 13,960
-2 Zeld 8,800
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= 440,000 «2CH 22 1,760
-LEHIEIE 200,0002 +7CH*23 2,800
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2 s5=4g4l 5,747 5,747 0
Ol FA2=Hl 5,747
-CHISAIRI101 1,300,000 *31CH*5% 2,015
-ZelH 4,000,000 *9CH 2% 720
—FAX 600, 0002 *1CH*2% 12
-HEd 30| 1,500,000 *2CH 3,000
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202 Ot 2,400 2,400
01 =WHO4bI 2,400 2,400
O3/ AL H2=& o] 2,400,000& 2,400
203 PYRF=&IH| 4,200 4,200
M EAM2IHRFA| 4,200 4,200
ORN2ILRFAI 350,000& =123 4,200




